Correction -- Answer Key to Homework 3
2. b.	To calculate the growth rate of total output, we first calculate the growth rates of each sector by taking the natural log of both sides and differentiating with respect to time. For the bread sector:



Similarly, for the cheese sector, we get,

We know the value for the growth rate of productivity in both sectors. Furthermore, in our answer to Part (a), we found that labor is currently equally divided among the two sectors. Thus, the growth of labor in one sector must be offset by the growth of labor in the other— We substitute in these values and get,

And,


Setting the growth rate of output in the bread sector to the growth rate of output in the cheese sector, we find that  and So, 
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